2N\
3 O 0 Py Y, 2
S P N o N
= 9 9] O ®
- @ <28 o > o
T «© (40] = < =
o —- (o] o) @
3 18| 2 |z|3|<
I =T = S B <
ge, @ —
S . c =
N, %’ = o
o o} = ®,
= o
D S
o
=
)
©&— o000 9118
o
10.00 9123 Bo
91.15 - x3
== . .
2 TProj. studz. sciekowa — km 0+816,00
ol 3 B ; T
3 § \ strona prawa | lewa proj. rz. 91,14
20.00 9128
30.00 91.33 \
91.28 - \
35.52 91.35 \
37.76 9136 \
40.00 9138 N2
=%
43.33 91.39 ;
SEiE
46.67 - 91.41 8=
4799 - 9142 \ e ) _ ,
50.00 \n 9146 L= Proj. skrzyzowanie
= i
52 \ 2z 2 e
oy
_ — . = km 0+853,24
56.67 9145 =4
58.49 91.57 + 9141 o
60.00 9141 =
11
=
63.33 9139 ® &%
wn
%®
66.67 91.37 3
70.00 91.36
73.33 9134
am | || o tqczy Etap |
80.00 i 91.31
ool km 0+880,00
+ ,
86.67 9127
90.00 9126
93.33 91.24
96.67 91.22
©— oo 91.21
(o Proj. studz. Sciekowa — km 0+903,00
333 9129 - 91.19 2 - -
strona prawa | lewa proj. rz. 91,07
6.67 9117
10.00 91.16
13.33 91.14
16.67 91.12
20.00 91.11
23.31 91.09
26.61 91.07
30.00 91.06
P
oy 91.22 -
40.00 91.01
48.77 90.97
50.00 g |& | 909
N 5
5333 = | gu - Proj. studz. $ciekowa — str. lewa [ prawa
56.67 i %092 proj. rz.l 90,65, proj. rz.p 90,83
- = - 2 km 0+954,00
60.00 90.91 > &
ER
=)
63.61 90.39
67.22 90,87
70.00 9110 1 90,86
80.00 9081
90.00 90,76
@— 0.00 90.71
—_ 90.84 - . .
Proj. studz. sciekowa — km 1+005,00
strona prawa i lewa proj. rz. 90,60
10.00 90.66
20.00 90.61
30.00 90.56 Z
-
40.00 90.51
4582 9048
! I
50.00 i 9048 =
wIYEEE T
5510 E | g045 f§%g§£ L3 Proj. studz. sciekowa — km 1+055,19
56.62 S| 9045 333 §§ strona prawa i lewa proj. rz. 90,37
[{e]
60.00 9048
90.47 -
64.77 9048 =
7000 9050 Proj. slfrzyZowome
z ulicqg nr 5
km 14+072,91 C
80.00 90,54 D
9044 -
90.00 90.59 O
E&— 000 90.64 E
— o Proj. studz. Scickowa — km T1+103,00 I
KMl T+ 1U%,70 . R
strona prawa | lewa proj. rz. 90,57
10.00 90.68 \ :
20.00 o0so 1 | =| 7 1 2o <
5| 2 =5 :_.‘
=S % 3 >
30.00 90.77 \
31.29 90.78 \
35.65 90.80 \
40.00 J!,ﬂ 90.82
B
45.00 90.84
50.00 s087 Proj. studz. sciekowa — km 1+152,00
52.3 90.88 = - -
strona prawa i lewo proj. rz. 90,79
90.86 -
60.00 90.91
PROJEKTOWANY ZJAZD
STR. LEWA KM 1+169,30
70.00 90.96 PROJEKTOWANY ZJAZD
STR. PRAWA KM 1+169,30
X
A
80.00 91.00 =
81.42 91.01
Q
~
Q TENIRE
S Shee LT
90.00 5108 91.03 2 8 S X
90.58 ' 91,03 %) 23 =
N (]
=1
< ISTN. ksD350
<
98.58 91.01 =
E&— 000 91.01 IR
N S
N
N
i
Zg =
10.00 90.97 S5S
9095 -
NE
=X
S)
9]
2000 90,93 =15
-
NS
o=
Ay
==
3 N S
30.00 a |5 | 908 S 23
3 [= o | =
g Proj. studz. sciekowa — km 1+235,02
o 087 1 §j strona prawa | lewa proj. rz. 90,79
i S}
40.00 90.85 =
S
S
S]
3
N
m
50.00 90.81 Qj
=
m
60.00 9077
63.16 90.76
g =1
LE¥TRELE : i
5016 Z| o7 9’-;?.;:{_;-,";';2:\ - P Proj. studz. Sciekowa — km 1+269,16
70.00 91.01 - g | 9074 | §355:58 Ny strona prawa i lewa proj. rz. 90,66
[
SR
76.66 90.76
80.00 90.78
90.84 G
23
1. 23
90.00 ol | 9083
=) =
E&— oo 90.82 - 90.38 NS <
w ST | . .
500 %090 or i D Proj. studz. Sciekowa — km 1+305,00
' ' 5 strona prawa i lewa proj. rz. 90,62
[
10.00 90.94 ‘
= @ 2
w7 1 2\ 5 23
=\ 3 3 5~
Wy Proj. skrzyzowanie
20.00 91.01
2200 9067 9103 / km 14+323,00 z ulicq nr 4
IR KONIEC PROJ. TRASY MOO4 km 1+323,00
m 22 |28 T |8 2|2
0] o @ w o 3 o | @ 1]
N1 S|z S | 5 5 gle R
z |8 = o3 - 138 |g 20
8 o
o | R (& 2
B2l x| 3|3 o)
g E| N2 Y ©
813|213 3 7 &
SR 5|8 - O S| =
5 |2 — N
=lelzlz D m 5| &
m [/ A
o | 2 55| T m A N
Ml =] 8 a Z — o
- U w3 FU
Q| = o |2 o
== |- M < 'm | SR
3 &3 STA5| | @
a8 B > S |w|N || R
s [8% gelz | < O CI‘Q > 5|52 =
S | =1z " — o o=
S 158|582 m O E Q| = |: O~
3 BB | = |
] 4 ) § il x E e E > |
2|z 22| |/ mZ2 % e|s
AR vy ‘AL 2|35
! = >
283 2 |91 8 BIS = z
a2 > ¥ r|o
3z 2R | =@ (2|02
R % g C o O — ; % k. »
22| Q mAGE] O
EN=4 ) o ! c |2
> > X |2 Q
253k | @
= — 3 Q :‘
1 m 4m
m wn 4 U)
g = N m g0
) D < 0O <
5 71O m I g N
: = Z :
i N =~ O
= =z Z R
= =,
g 3 > > Q
S ® o "
g A
< [de]




